Term 1 (22-23) Mid - Theory of
Structures (1)

1) SleLasVl & y15) - CIV 111 - Gode ooVl syl dulbn
1) OlelasVl & ,b)- CIV 201 - & giwall dulin)

* Required

* This form will record your name, please fill your name.

The vertical reaction at the 7
fixed support is * (1 Point) A B

30 kN Upward
45 kN Upward
30 kN Downward

30 N Upward

O O O OO0

60 kN Upward



The shown structure is:; *
(1 Point)

Statically Determinate
Unstable
Statically Indeterminate to the first degree

Statically Indeterminate to the six degree

O ORONONC,

Statically Indeterminate to the second degree

The shear force at D is * 7
(1 Point) A
B C D

-1.5 kN

Zero

-10 kN

-5 kN

5 kN

O O O OO0



10 AN/m

The shear force at C is * Z
(1 Point) A
B C D

-1.5 kN

30 kN

5 kN

15 kN

O O O O O

-5 kN

The horizontal reaction at
the roller support is: * )
(1 Point)

O 5 kN To the right

Q Zero

Q There is no horizontal reaction at roller support
O 10 kN To the right

() 5kN To the left



The shear force just at
the left of D is: * (1 Point)

10 kN
zero

30 kN
20 kN

5kN

OGN ONONONC,

The shear force at A is: *
(1 Point)

Zero
-5 kN
5 kN
10 kN

-10 kN

O ORONONC,




The shear force at just left of
Dis: * (1 Point)

20 kN

zero

10 kN

5 kN

OGN ONONONC,

30 kN

The shear force at the
middle of the beam is: *
(1 Point)




The shown structure is: * (1 Point)

O ORONONC,

Statically Determinate

Statically Indeterminate to the first degree
Unstable

Statically Indeterminate to the second degree

Statically Indeterminate to the six degree



The vertical reaction at the
roller support is: * (1 Point)

40 kN Downward
40 kN Upward
80 kN Upward

80 kN Upward

ONORONONC,

Zero

The shear force at B is *
(1 Point)

() -135kN.m




10 AN

The moment reaction at the
fixed support is: * (1 Point)

40 kN.m Clockwise

10 kN.m Anticlockwise

60 kN.m Anticlockwise

40 kN.m Anticlockwise

35 kN.m Anticlockwise

OGN ONONONC,

10 kN

The shear force at A is: *
(1 Point)

25 kN

Zero

20 kN

30 kN

O ORONONC,

50 kN



The shown structure is:; * 5
(1 Point) 7

Statically Indeterminate to the first degree
Unstable

Statically Determinate

Statically Indeterminate to the third degree

Stable

O O O OO0

The bending moment at Cis: * (1 Point)

4 kN 8 kN
36 kN.m 2 kN/m 8 kN.m
@ﬁHHIHHHHHHé““\ B
ISEN — 4m ‘ By
2m | 5m | 2m | 2m | 2m |
] ] [ ] ]
() -225kN.m
() 24kNm
Q Zero
() 60kN.m
() 225kN.m



The vertical reaction at the
fixed supportis: * (1 Point)

10 kN Upward
25 kN Upward
30 kN Upward

Zero

O ORONONC,

5 kN Upward

The shear force just at the
right of D is: * (1 Point)

-5 kN
-20 kN
-10 kN

Zero

O O O OO0

30 kN

10 kN




The shear force at Cis: * (1 Point)

4 kN 8 kN
36 kN.m 2 EN/m 8 kN.m
LW TTITTTTITTIATTIIy B
Z
4 C D <
ISEN — 4m
! By
2m | Sm | 2m | 2m | 2m |
[ [ I [ 1
() 15kN
() 25kN
() 7kN
() 3kN
(O 11kN
SIQ\'l lSkN
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The bending moment at D is:
* (1 Point) o < L 'y
2m 2m 2m

15 kN.m

10 kN.m

5 kN.m

20 kN.m

30 kN.m

O O O O O



The bending moment at B is
* (1 Point)

() 30kN.m
() 45kN.m
() -45kN.m
() -90 kN.m
() 30kN.m

The bending moment at C is:
* (1 Point)




The normal force at B is * 7
(1 Point) A =

The shown structure is: *
(1 Point)

Statically Indeterminate to the first degree
Stable
Statically Determinate

Unstable

O O O OO0

Statically Indeterminate to the third degree



The vertical reaction at the
hinged support is: *
(1 Point)

Q 5 kN Upward

O 5 kN Downward
O 5 kN.m Upward

O Zero

O 10 kN Upward

The moment reaction at the
fixed support is * (1 Point)

90 kN.m Anticlockwise
135 kN.m Anticlockwise
45 kN.m Anticlockwise
30 kN.m Clockwise

45 kN.m Clockwise

O O O OO0




10 AN

The vertical reaction at the
roller support is: * (1 Point)

10 kN.m Upward
20 kN Upward
5 kN Upward

10 kN Upward

OGN ONONONC,

Zero

The shown structure is: *
(1 Point)

Stable
Statically Determinate
Statically Indeterminate to the second degree

Statically Indeterminate to the first degree

O O O O O

Unstable



The vertical reaction at the
hinged support is: *
(1 Point)

160 kN Upward
40 kN Downward
40 kN Upward

80 kN Downward

ONORONONC,

45 kN Upward

10 kN

The bending moment at C is:
* (1 Point)

20 kN

Zero

30 kN

15 kN

O O O O O

10 kN



The normal force at D is: *
(1 Point) zé;’,‘a:

-5 kN
15 kN
5 kN

Zero

O O O OO0

-10 kN

The shown structure is: *
(1 Point)

Unstable
Statically Determinate
Unstable and Statically Indeterminate

Stable

O O O OO0

Statically Indeterminate to the first degree




The shear force at Cis: *
(1 Point)

10 AN/m

The bending moment at C is Z
* (1 Point) A
B C D
I
i

l 3 m 1.5 ]|1.5 I
() -15kN.m
() -45kN.m
() 15kN.m
() -11.25kN.m

() -30kN.m



2 2

The shown structure is:; *
(1 Point)

Unstable
Unstable and Statically Indeterminate
Statically Indeterminate to the first degree

Stable and Statically Determinate

O ORONONC,

Statically Indeterminate to the second degree

ygeazdl Glil it * (1 Point)



10 AN

The shear force at B is: *

(1 Point)
() -5kN
() -10kN
() -30kN
() -20kN
() zero

10 AN/m

The bending moment at D is Z
* (1 Point) A
B C D
|
|

() -45kN.m
() -15kN.m
() -10kN.m
() zero

() -30kN.m




The shear force at A is *
(1 Point)

() -135kN.m

The bending moment at A is:
* (1 Point)

() -40kN.m
() 35kN.m
() -60kN.m
() -25kN.m
() 10kN.m

10 AN
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